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cost=%

ti=n/3 + 2nk
t:=-n/3 + 27k,
keZ




sint=%

ti=m/6 + 271k

t:=5T1/6 + 211k,
keZ

sint=1
t=11/2 + 211k

sint=-1
t =-11/2 +21Tk

. sint=0
' t:'ITk




tg t = V3/3
t; = T1/6 + Tk,
keZ

tgt=-1
t:=-11/4 + 11k,
keZ




ctg t = V3/3
t; = T1/3 +17k
keZ

ctgt=-1
t; = 311/4 +17k,
keZ




Oowuun Bng | OrpaH

NYeH"n
e
CoS X = a, la|>1,
la|< 1, KOPHEN
X= *arccos a+2T1in, HeT
nez
sin x = a, la|>1,
la|< 1, KOPHEN
x =(-1)*arcsin a+T17n, HeT
nez
tg x =aq, HeT
a =arctg a +1n, n e 7
ctgx=a, HeT

\

a =arcctg a +1Tn, n € 7,

YacTHble cnyyau

a=1, a =0, a=-1,
cosx=1, cosnx =0, cosx=-1,
X = 277Tn, X= 2+TIn, X = T +217Tn,
netz nez nez
a=1, a=0, a=-1,
singx =1, sin x =0, sin %= -1,
X = o +27In, X =TIn, X=- 2+21In,
nez nez netz



[TpocTenune 1)«/5005x+1 —0
TPUTOHOMETPUYECKNE

ypaBHEHMS 2) sin(g—%) +1=0

YpaBHeHus, 3)5cos” x+6sinx—6=0
NPUBOANMBIE K KBaApPaTHbIM

OaHopoaHble
TPUTOHOMETPUYECKNE
ypaBHEHUS 5) Sing _ \/gcosg

5 . )
4)sin” x —4sinxcosx+3cos” x =0













